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Question No: 1    ( Marks: 1 )    - Please choose one

 Price of 100 goods under the barter system would be _________.

       ► 5050

       ► 19800

       ► 4950
       ► 20200

    

Question No: 2    ( Marks: 1 )    - Please choose one

 In electronic transfer the most common method is to send money through a system maintained by Federal reserve called __________.

       ► Fedex

       ► Fedwire
       ► Fedtransfer

       ► Fedmoney

    

Question No: 3    ( Marks: 1 )    - Please choose one

 Which one of the following is the primary cause of inflation?

       ► Decreased money supply

       ► Increased money supply
       ► Decreased interest rates

       ► Increased purchasing power

    

Question No: 4    ( Marks: 1 )    - Please choose one

 Which of the following is true for direct finance?

       ► Individuals (or firms) borrow directly from banks

       ► Individuals deposit savings directly in banks

       ► Firms deposit savings directly in banks

       ► Individuals (or firms) borrow directly from the savers
    

Question No: 5    ( Marks: 1 )    - Please choose one

 What will be the Future Value (FV) of $1000 in 5 years at 5% interest rate?

       ► $1300.00

       ► $1276.28
       ► $1999.99

       ► $1500.52

    

Question No: 6    ( Marks: 1 )    - Please choose one

 Which one of the following is the procedure of finding out the Present Value (PV)?

       ► Discounting
       ► Compounding

       ► Time value of money

       ► Bond pricing

    

Question No: 7    ( Marks: 1 )    - Please choose one

 You receive a check for $100 two years from today. The discounted present value of this $100 is:  

 

       ► $100/(1+i) 

       ► $100*(1+i)2 

       ► $100*(1+i) 

       ► $100/(1+i)2 

    

Question No: 8    ( Marks: 1 )    - Please choose one

 Which of the following represents the fisher’s equation?

       ► Nominal interest rate = real interest rate + inflation
       ► Nominal interest rate + inflation = real interest rate

       ► Nominal interest rate = real interest rate - inflation

       ► Nominal interest rate = real interest rate / inflation

    

Question No: 9    ( Marks: 1 )    - Please choose one

 What will be the result of the difference of real and nominal interest rate?

       ► The cost of borrowing

       ► The effect of inflation
       ► The price of bonds

       ► The return of bonds

    

Question No: 10    ( Marks: 1 )    - Please choose one

 Sum of all the probabilities should be equal to which one of the following?

       ► Zero

       ► One
       ► Two

       ► Three

Question No: 11    ( Marks: 1 )    - Please choose one

 The coupon rate of bond:

       ► Is another term for the current yield

       ► Is another term for the yield to maturity

       ► Could not be calculated for a zero-coupon bond
       ► None of the given options

Question No: 12    ( Marks: 1 )    - Please choose one

 Current yield did NOT measure which of the following?

       ► Return arises from coupon payment

       ► Capital gain and loss

       ► Return arises from bond holding till maturity

       ► All of the given options
 

Question No: 13    ( Marks: 1 )    - Please choose one

 An increase in the expected inflation shifts the bond supply to the _________

       ► Right
       ► Left

       ► No change

       ► None of the given options

    

Question No: 14    ( Marks: 1 )    - Please choose one

 The lowest rating for an investment grade bond assigned by Moody's is:

       ► BBB

       ► ABB

       ► Baa
       ► Aaa

    

Question No: 15    ( Marks: 1 )    - Please choose one

 In the long run, the yield curve tends to be which of the following?

       ► Upward sloping
       ► Downward sloping

       ► Nearly vertical

       ► Nearly horizontal

    

Question No: 16    ( Marks: 1 )    - Please choose one

 Common stocks (or corporate stocks):

       ► Are short term debt instruments

       ► Entitle the holder to contractual payments

       ► Were poor investments over the period 1982‑1996

       ► Allows the holder to share in the earnings of the firm

   

 

Question No: 17    ( Marks: 1 )    - Please choose one

 A bank can usually offer a saver a higher return for the same risk because:

       ► The bank can usually purchase assets at a higher cost than any one saver

       ► The bank can pool the resources of larger savers and purchase lower denominated assets

       ► Economies of scale can be applied by the bank in its purchase of assets
       ► None of the given options

    

Question No: 18    ( Marks: 1 )    - Please choose one

 If information in a financial market is asymmetric, this means:

       ► Borrowers and lenders have the same information

       ► Lenders lack any information

       ► Borrowers and lenders have perfect information

       ► Borrowers would have more information than lenders

    

Question No: 19    ( Marks: 1 )    - Please choose one

 Which of the following is true of a nation's central bank?

       ► It makes important decisions about the nation's tax and public spending policies

       ► It lends only to the nation's largest and most important business firms

       ► It has many interactions with the nation's citizens and businesses

       ► It is responsible for conducting the nation's monetary policy
    

Question No: 20    ( Marks: 1 )    - Please choose one

 Requiring a large deductible on the part of an insured is one way insurers treat the problem of: 

       ► Free-riding

       ► Moral hazard
       ► Adverse selection

       ► The Lemons market

 

Question No: 21    ( Marks: 1 )    - Please choose one

 Often a bank will require a loan officer to make personal visits on customers with loans outstanding. This is encouraged because:

       ► The bank worries about competitors trying to steal their customers

       ► The bank wants to make sure the business is still there

       ► The bank likely has excess funds available and hopes to make another loan to the business

       ► This is an effective monitoring technique and should reduce moral hazard
    

Question No: 22    ( Marks: 1 )    - Please choose one

 Which of the following represents the history of money uptill the modern age?

       ► Gold/silver coins____ Paper Currency____Electronic Fund Transfer
       ► Paper Currency_____Gold/Silver coins_____Electronic Fund Transfer

       ► Electronic Fund Transfer_____Paper Currency _____Gold/silver coins

       ► Gold/silver coins_____Electronic Fund Transfer_____Paper currency

    

Question No: 23    ( Marks: 1 )    - Please choose one

 Mr. A makes payment to Mr. B in exchange of household furniture in the form of cheques.Which of the following is true for this situation?

       ► It is final payment made by Mr. A

       ► It’s not a final payment 

       ► It may not be accepted as payment

       ► Cheques are not form of money
    

Question No: 24    ( Marks: 1 )    - Please choose one

 Components of M1 DO NOT include which one of the following?

       ► Currency in the hands of public

       ► Demand deposits

       ► Small denominations time deposit
       ► Checkable deposits

    

Question No: 25    ( Marks: 1 )    - Please choose one

 A change in the interest rate:

 

       ► Has a larger impact on the present value of a payment to be made far into the future than one to be made sooner
       ► Will not have a difference on the present value of two equal payments to be made at different times

       ► Has a smaller impact on the present value of a payment to be made far into the future than one to be made sooner

       ► None of the given options

Question No: 26    ( Marks: 1 )    - Please choose one

 Which of the following statement is true about the relationship between bond ,coupon payment and interest?

       ► Coupon payments fall, the interest rate falls, and Bond price will rise

       ► Coupon payments rise, the interest rate falls, and Bond price will rise
       ► Coupon payments fall, the interest rate falls, and Bond price will fall

       ► Coupon payments rise, the interest rate falls, and Bond price will fall

    

Question No: 27    ( Marks: 1 )    - Please choose one

 Which of the following are without maturity dates?

       ► Zero coupon bonds

       ► Coupon securities

       ► Consols
       ► Preferred Bonds

  

Question No: 28    ( Marks: 1 )    - Please choose one

 Zero-Coupon Bonds are pure discount bonds since they sell at a price __________.

       ► Equal their face value

       ► Below their face value
       ► Above their face value

       ► None of the given options

    

Question No: 29    ( Marks: 3 ) 

 Differentiate between yield to maturity and current yield.

    

 

Yield To Maturity

 

The most useful measure of the return on holding a bond is called the yield to maturity (YTM).

This is the yield bondholders receive if they hold the bond to its maturity when the final principal payment is made

It can be calculated from the present value formula.

The value of  i that solves this equation is the yield to maturity

If the price of the bond is $100, then the yield to maturity equals the coupon rate.

Since the price rises as the yield falls, when the price is above $100, the yield to maturity must be below the coupon rate.

 

Current yield

 

Current yield is a commonly used, easy-to-compute measure of the proceeds the bondholder receives for making a loan.

It is the yearly coupon payment divided by the price

The current yield measures that part of the return from buying the bond that arises solely from the coupon payments

 

Question No: 30    ( Marks: 3 ) 

 Discuss briefly the facts about term Structure.

  

Facts of Term Structure

 

Interest Rates of different maturities tend to move together

Yields on short-term bond are more volatile than yields on long-term bonds

Long-term yields tend to be higher than short-term yields.

 

Question No: 31    ( Marks: 5 ) 

 Briefly discuss short term ratings by Pakistan Credit Rating Agency.

    

Pakistan Credit Rating Agency.

 

 

A1+: highest capacity for timely repayment

 

A1: Strong capacity for timely repayment

 

A2: satisfactory capacity for timely repayment may be susceptible to adverse economic conditions

 

A3: an adequate capacity for timely repayment. More susceptible to adverse    economic condition

 

B: timely repayment is susceptible to adverse changes in business, economic, or financial conditions

 

C: an inadequate capacity to ensure timely repayment

 

D: high risk of default or which are currently in default

 

 

Question No: 32    ( Marks: 5 ) 

 Define stock and also discuss its important characteristics.

  

Stock & its importance

 

Stocks provide a key instrument for holding personal wealth as well as a way to diversify, spreading and reducing the risks that we face. For companies, they are one of several ways to obtain financing. Additionally, Stocks and stock markets are one of the central links between the financial world and the real economy.

 

Common Stock

Valuing Stock

 

Stocks, also known as common stock or equity, are shares in a firm’s ownership

From their early days, stocks had two important characteristics that today are taken for granted:

The shares are issued in small denominations and the shares are transferable

Until recently, stockowners received a certificate from the issuing company, but now it is a computerized process where the shares are registered in the names of brokerage firms that hold them on the owner’s behalf.

The ownership of common stock conveys a number of rights

A stockholder is entitled to participate in the shares of the enterprise, but this is a residual claim meaning the leftovers after all other creditors have been paid

